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Time ; Three hours Maxisawm 5 100 marks

Answer ALL questions

PART A -~ (10 x 2 =20 marks)
State Ohm's Law.
Define the term “Energy”.
Define RMS Value.
What is the function of 2ommu tator in DC Generators?
What do you mean Sy endy current loss?
List out any tw > 4plications of single phase lr;duction motors,
What are a4t = types of connection in three phase Transformer?
Write duwe the tvpes of rotors in three phase Induction motors.
What are-all the types O'f Moving Coil Meters.?

Write down the deflecting torgue equation of dynamometer wattmeter.
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PART B — (5 x 16 = 80 marks)

Two bnttéries A and B are properly connected to supply a current of
160 A to a load resistance R,. E, =120V, R, =0.15Q, R, =0.1Q

and I, =60A. Caleulate E,and the Load Power. ()

A pure Inductance L = 0.1H has an applied voltage of
e =2008in314¢ . Find the current, the instantaneous and average
power. Find also the inductive reactance and the RMS current.  (8)

" or

(b) Find the power delivered by the batteries of the following Giuuit. (16)
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A Series circuit has R=10Q L=50mH and C=100uF and is supplied
with 20V, 50Hz supply. Finl “he impedance, the current, the power, the
power factor and the vo.tag Irop across each element. (16)
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Or

Each phasé {3 phase Alternator produces a voltage of 6,351 volts
and ca cac-y a maximum current of 315 A, Find the line voltage,
maxi‘avm line current and total KVA capacity of the Alternator
if it is -

(.1 Star connected and

2)  Delta connected. ' (8)

A 3 phase 400 V supply is given to a balanced star connected load of
impedance 8+ j6Q in each branch. Find the line current, power

factor and total power. (8)
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